@HAKKO X | English
E/ X)L (HU-200 ) v MRS

SRR == - BE/ XL (HU-200 H) BUREHE BX 1059

15 |BX1059 |BE/ X)L FEIRERIL M4 X 12 (4) = [[ CERIc®IEoT J]

1<
n

MRIE/ Z)VAE (R MIE)
7ETEI— BAVFHA)

— - - BEF—T I EON—YIREDIRIE ) X)L EEMUKWND, AFEIEE SRR TV, BIERRE. RILNESHHLTIREEL,
B3625 |x Y N RE/ )V F7 OB & BIBIC &> TRE[HHEDDETDT, L FOI—/\—ERFRBLTTERLEEL.
B3621 |749T45— 34VFH

B2416 |F UMUK 50 NIRRT
50k

FETHERIL R M4 X 12 (4)

//:/
=

—
S

IRIEHIREE (HU-200 ) BEAS -1

A A
& o & //ﬁ A
ERER | 28 EREH i . -1 <
REFREFY (BEE) il i G ‘ L
EEE (3 5) 1-5  [BX1059 | IRIBEIREE o7 ABRET M4 x 12 (4) _ N ¢
A 2 83625 :%E'E u&@ﬁéﬁu&gg Ef%?”;’%%mt | D&E}Z”/E:ERB%‘DI%?:ZWD{#U’%Ltb‘ti*go | X i >
B3621 BIEE 3 E<TA Oeeeseee e o
T - e S (IR . W . B _ . i )
B2416 ERE EREINEE L FRIOESICIRE Dty LT, FRO —— TEO&SIC. WEODHRE ARG HENEU
s BETORICRIL MEANET . 15 ) o e st
- = (1) FRERGED L. (2) RIREAFHSD s oI e coTe
LEY, (3) RiffHAIZEEFEDLET L | ©
Packing list—Fume extraction nozzle (for HU-200) ' ‘ o
Fume extraction nozzle main body Dwg. number | Model number Part name Specifications %
(with nets) BX1059 Fume extraction nozzle | With hexagon socket head cap screws M4 x 12 (4) MRIE D 3 AT B
B3625 Net Fume extraction nozzle (attached to the duct port) ) RS o ‘ .
B3621 Adaptor For 3 inch (1) FAZERRED T\ - = —
B2416 Duct band Attached to the duct 3 igﬁg%Kﬁ&)btb‘b : ‘
Duct - o .
eSS )
ETFOIL—N—DREZRAELET, ERID)L—)\—
c FARRITRICEHREERT 28NN HDHEE. ERAIDIL—/(—Z 7
BWTCERIZRSEE T, TMADIL—/— A TN
< FATRITUENSIRE/ Z)VDTICAR=ANTEDHA. -
TRIDIL—)I\—ZFENTAN—AZEE, BDET
ﬁ ‘ AR EHEEFT
==
G ARCTAEERAZUC LT, E/ UHER LISV ENfEER =
3 \ LET, £

| WEss (J\v O—FA-430/431) ZROAITS |

@ B DF v TZBOA L. W57 I TI—ZROMITERT, S0 SOmEICT T NN RZEED 1T,
' RSAN—CTBLIHDET

@H AI«O W BSE (AAE. HE. hEE. 75 XE. KA VE. BEE) OBRIEHERIELTOURL. HAKKO
Document Portal* 5 4 > O— KL TZBWELEITE T,

BX#HRX=xt (FARICE > THREDBVSEF N ETHF, TTERIESY) ‘
IV * BEIFES (H 78,558, P KRS 558, M8 a0 MV fE AR B E TT LUE B A T MUARIHAKKO Document Portel T E;Z3RE ©
http://www.hakko.com E—BANERREREIEHEFRR

T556-0024 ABRMREXIEE2T B4ESS * Instruction manual for the language, Japanese, English, Chinese, French, German and Korean can be

TEL: (06) 6561-1574 ({£) FAX: (06) 6568-0821 downloaded from the following URL, HAKKO Document Portal. ;?‘ v h@ﬂygl
(Please note that some language may not be available depending on the product.)

OHAKCO $ = eeewereewmeeememmmer ) e ey s | DS MOERDALET, T MIBHHIE
1 MREQ 75 75 R/ AUTT RERDAD. TZMYE N sscsiomn. 94 rOCEOHIT RS, Ry MESRUR

HAKKO CORPORATION

HEAD OFFICE

4-5, Shiokusa 2-chome, Naniwa-ku, Osaka 556-0024 JAPAN
TEL:+81-6-6561-3225 FAX:+81-6-6561-8466
http://www.hakko.com E-mail:sales@hakko.com

OVERSEAS AFFILIATES

U.S.A.: AMERICAN HAKKO PRODUCTS, INC.
TEL: (661) 294-0090 FAX: (661) 294-0096

Toll Free (800)88-HAKKO
h1tp://www.hakkouosza.?:gr$1

HONG KONG: HAKKO DEVELOPMENT CO., LTD.
TEL: 2811-5588 FAX: 2590-0217
http:/Awww.hakko.com.hk
E-mail:info@hakko.com.hk

SINGAPORE: HAKKO PRODUCTS PTE., LTD.
TEL: 6748-2277 FAX: 6744-0033
http:/Awww.hakko.com.sg
E-mail:sales@hakko.com.sg

EHEHTEELFT, _

(52 MUY RIZR<BHTEENESIC LTS ) YT NOERE S )

https://doc.hakko.com RMEICRUE T,

W T

Please access to the following address for the other Sales affiliates. T

http://www.hakko.com ] A BUEEHSD L. 2 . o .
2018.9 p— — - - . # ElF. Ry FEEEAFTBFVKSICLTLEELY,
© 2018 HAKKO Corporation. All Rights Reserved. MAO2946X2180913 RJBEERDEWVT (FIREEE N BOEIREGIREZSR U T EEL,




B4 engisn | (@7 HLAKKO A [ +x RN

WHAKO
IR {E{EIREE (HU-200 FB) {EFERAEE BX1059
{EAAR Before use
Before operation, be sure to check that no parts on the jig table come in contact with the fume extraction nozzle. After checking

EEWEITENMERER > R TAES LTRSS R HIRERERIRIAS - ETEEER 2% AR ERET -
operation, retighten bolts. Since the suction force varies depending on the environment, adjust the upper and lower louvers before use.

RBRIZRNEERRE - FFRB L TERETER -

Hexagon socket head cap screw M4 x 12 (4)

~

RANAERET M4 x 12 (4)
/ g / g
’/’5 s ° /’3 ) °
A ,/
& /,/5 s / ’ / & / a A / ’ /
& ° [ P s / & o & / A o /
. - ‘ . & ‘ P . & ‘ . & ‘ P
re re
& &
IR fE SRR = BT RAET R B TR, The fume extraction nozzle can be mounted at height in 3 stages.
0 ............................................................................................................................................................................................................................................................................. .o o ............................................................................................................................................................................................................................................................................. .o
=i TR EEIREE » 588 = ) i ) )
E—Fﬁﬁ/‘r\ﬁﬁlt RIEEREE - AFIRET AT — FEIFR » SR OIS R B S T B AR G n Mouht the fume. extraction nozzlle as Sh.OWﬂ below Mounting the nozzles so that the center of the fume
SENTLA - E2h =r BRI - and inert bolts into holes at arbitrary height. extraction port is level with the soldering position as
(1) ABIBE—EIREET » (2) =R ERE— ”‘X ~ = (1) Tighten the one side temporarily and shown below will enable efficient fume extraction.
RURIHRET - (3) H6.2AIABIRLEH —MIHRET [ (2) tighten the other side fully. (3) Tighten | ’
SR EER - | o - [ @
TRER ;’{ = ) | H the temporarily-tightened side fully. f” | °
. ‘J ® i Kl X : g - | o {1 i
(2) Z2EES | % e | %
—BIHo2sT ﬂ ° . N side fully ¢
i Y etml) “ | 2R . | Center position of 3 ‘ Soldering position
) RRUE ° \ (1) Tighten the one side temporarily. ) fume extraction port o “
/\/) < \. 0
(1) REUIEE—RINRET N ’ B @ <N S u 1 ‘
(3) REEBZ—AMIRT 2B N 3) Tighten the temporarily-tightened o o o Q -
TR ERILREIRET ™ side fully after tightening the other ‘ : )
side fully. ‘
0 ...... o ......................................................................................................................................................................................
a AEITEENAE - a Adijust the angle of the upper and lower louvers.
o WNRIELHAF O] BE DAL ABEIZERMF - BIFTHA_LBISZEDARA LERLAE - Y o If the louvers might come in contact with parts during soldering,
o BIEBMEBERS - REERE FELATHE  BITE TAnEERE THEE open the upper louver to prevent contact.
2= IEEREE - “ o |f there is space under the fume extraction nozzle because the ‘
e | soldering position is high, open the louver on the lower side to
AEREBEZRETIERER  ERIREERESE S ELMLE - A close the space and prevent air from flowing through the space. v \
= ~_  d==h N (==
THRBRE g ) - Lower louver | .
After adjusting the angle arbitrarily, check that no contact occurs .
J with the fume extraction nozzle. J '
RERIPIEE (HAKKO FA-430/431) | | Attach the Fume Extraction (HAKKO FA-430/431)

of the duct, tighten them lightly using a
screwdriver.

@ B TMREENEES @ EERE BEERELEREEMI - FRRAIH @ After attaching duct bands to both ends
= g . : THI(E -
S :

Remove the caps from the fume extraction and insert the adapters
into the open ports.

Net replacement

Remove the duct ports from the fume extraction nozzle main body.
Stretch the nets properly so that no sagging occurs in the nets and

HIRERRBTIHAEEED LI - FAREESH AR - HLEER
Attach the ducts to the fume extraction adaptor and the fume attach the nets to the dugt 77
extraction nozzle and secure them by tightening the duct bands. ports. Reinsert the duct
(Be careful not to overtighten the duct bands.) ports whose nets were

Duct port

P EEn
replaced into the fume
extraction nozzle main

Fume extraction :
nozzle main body

gl

A\ When tightening the screws, be careful to prevent the nets from
becoming snagged by the screws.

For how to use the fume extraction, refer to the instruction manual

A\ EBERE > BEIERERE -
included with it.

IRIEERER S AR S EREEWFRERRBSE -




